Table II - Statement showing shareholding pattern of the Promoter and Promoter Group

No. Shareholding | Number of Voting Rights held in each
Of as a % of class of securities (IX)
No. of Partly Is\il(:i.r;)sf "Sl"l(l);:isnos. total no. of
Category & Nos. Of fully pgld paid- underlying | held shares No of Voting (XIV) Rights Tota!)
Sr. Name of the shareholders | up equity |up ’ _ (calculated as asa%
... | Depository [ (VII) =
Shareholders (I) | (IIT) shares equity Receipts (V) per SCRR, of
. Total
held (IV) | shares R (V)+ (V1) 1957) (VII) | Class eg: | Class Total otal
held As a % of X egy Voting
V) (A+B+C2) rights
A Table II - Statement showing shareholding pattern of the Promoter and Promoter Group
(1) Indian
(a) Individuals/Hindu | 5506802 5506802 |55.07 5506802 5506802 |55.07
undivided Family
(d) Any Other 1 677004 677004 | 6.77 677004 677004 | 6.77
(specify)
(SA“;’('lT)Otal 5 6183806 6183806 |61.84 6183806 6183806 |61.84
2) Foreign
Total
Shareholding
of Promoter
and 5 6183806 6183806 |61.84 6183806 6183806 |61.84
Promoter
Group (A)=
(A)1)HA)
2
B Table III - Statement showing shareholding pattern of the Public shareholder
()] Institutions
Financial
(f) Institutions/ 1 2200 2200 0.02 2200 2200 0.02
Banks
Sub-Total
1 2200 2200 0.02 2200 2200 0.02
B)(1)
(3) Non-institutions
Individuals -
i.Individual
(a(i)) sharcholders 15139 1967412 1967412 |19.67 1967412 1967412 | 19.67
holding nominal
share capital up
to Rs. 2 lakhs.
Individuals - ii.
Individual
shareholders
(a(ii)) holding nominal |10 1343708 1343708 |13.44 1343708 1343708 |[13.44
share capital in
excess of Rs. 2
lakhs.
© Any Other 314 502874 502874 [5.03 502874 502874 |[5.03
(specify)
(S];l)b}-;l;otal 15463 3813994 3813994 |38.14 3813994 3813994 |38.14
Total Public
Shareholding
B)=(B)(1)+ 15464 3816194 3816194 |38.16 3816194 3816194 |38.16
B)2)+(B)
(3)
C Table IV - Statement showing shareholding pattern of the Non Promoter- Non Public shareholder
Total ( 15469 10000000 10000000 | 100 10000000 10000000 | 100
A+B+C2)
Total
15469 10000000 10000000 | 100 10000000 10000000 | 100

(A+B+C)




